

General Info

Total:

\$55,395.40

Number

123356 LOG 2025 CEAO SIGN UPGRADE

Deadline

06/24/2025 10:00 AM EDT

Vendor

MDSolutions

Submitted

06/24/2025 08:58 AM EDT

Signed by

Neil Louy

Opened

06/24/2025 10:22 AM EDT **By** sjudd@lceo.us

Description

PID # 123356

2025 Logan County, Ohio - Sign Upgrade

Supply various traffic signs, hardware, materials and post.

DBE Goal - 0%

Allows zero unit prices and labor

Yes

Allows negative unit prices and labor

Yes

ATTACHMENT LIST

123356 LPA Bid Template.pdf (1.21 MB)

123356 Sign Upgrade NTB.pdf (391 KB)

123356 General notes.pdf (260 KB)

ADDENDUM

Addendum Acknowledgement: (Click "+" to add additional fields) (Type "N/A" if not applicable)

Addendum Number: *

N/A

Addendum Date: *

N/A

AFFIDAVIT - CAMPAIGN CONTRIBUTIONS

Ohio Revised Code Section 3517.13(I) requires that no agency or department of this state or any political subdivision shall award any contract, other than one let by competitive bidding or a contract incidental to such contract or which is by force account, for the purchase of goods costing more than five hundred dollars or services costing more than five hundred dollars to any individual, partnership, association, including, without limitation, a professional association organized under Chapter 1785 of the ORC, estate, or trust if the individual has made or the individual's spouse has made, or any partner, shareholder, administrator, executor, or trustee or the spouse of any of them has made, as an individual, within the two previous calendar years, one or more contributions totaling in excess of one thousand dollars to the holder of the public office having ultimate responsibility for the award of the contract or to the public officer's campaign committee. Furthermore, Ohio Revised Code Section 3517.13(J) requires that no agency or department of this state or any political subdivision shall award any contract, other than one let by competitive bidding or a contract incidental to such contract or which is by force account, for the purchase of goods costing more than five hundred dollars or services costing more than five hundred dollars to a corporation or business trust, except a professional association organized under Chapter 1785 of the ORC, if an owner of more than twenty per cent of the corporation or business trust or the spouse of that person has made, as an individual, within the two previous calendar years, taking into consideration only owners for all of that period, one or more contributions totaling in excess of one thousand dollars to the holder of a public office having ultimate responsibility for the award of the contract or to the public officer's campaign committee. Execution of this proposal on the signature portion thereof shall constitute also signature of this Campaign Contributions Affidavit.

AFFIDAVIT - NON-COLLUSION

In accordance with Title 23 United States Code, Section 112 and Ohio Revised Code, Chapter 1331 et. seq: and Sections 2921.11 and 2921.13, the bidder hereby states, under penalty of perjury and under other such penalties as the law provides, that he or his agents or employees have not entered either directly or indirectly into any agreement, participated in any collusion, or otherwise taken any action in restraint of free competitive bidding in connection with this proposal. Execution of this proposal on the signature portion thereof shall constitute also signature of this Non-Collusion Affidavit.

AFFIDAVIT - PERSONAL PROPERTY TAX

PERSONAL PROPERTY TAX *

N/A

COMPETITIVE BIDDER'S PERSONAL PROPERTY TAX AFFIDAVIT - SOLE PROPRIETORSHIP

Optional: Vendor is not required to complete.

STATE OF OHIO:

: ss:

LOGAN COUNTY :

The undersigned, being duly sworn, says that he is or represents a competitive bidder doing business in, or with Logan County, Ohio, and that:

No bid

The business address of the bidder is: *

No bid

Telephone: *

No bid

The undersigned further says that the bidder at the time of submitting his or its bid: *

No bid

Delinquent Property Taxes As Follows (click "+" to create additional entries. Type "N/A" if this section does not apply):

YEAR: *

AMOUNT: *

PENALTY: *

INTEREST: *

No bid

No bid

No bid

No bid

Signature: *

No bid

Title: *

No bid

COMPETITIVE BIDDER'S PERSONAL PROPERTY TAX AFFIDAVIT - SOLE PROPRIETORSHIP DBA

Optional: Vendor is not required to complete.

STATE OF OHIO:

: ss:

LOGAN COUNTY :

The undersigned, being duly sworn, says that he is or represents a competitive bidder doing business in, or with Logan County, Ohio, and that:

No bid

of: *

No bid

The business address of the bidder is: *

No bid

Telephone: *

No bid

The undersigned further says that the bidder at the time of submitting his or its bid: *

No bid

Delinquent Property Taxes As Follows (click "+" to create additional entries. Type "N/A" if this section does not apply):

| YEAR: * | AMOUNT: * | PENALTY: * | INTEREST: * |
|----------------|------------------|-------------------|--------------------|
| No bid | No bid | No bid | No bid |

Signature: *

No bid

Title: *

No bid

COMPETITIVE BIDDER'S PERSONAL PROPERTY TAX AFFIDAVIT - PARTNERSHIP

Optional: Vendor is not required to complete.

STATE OF OHIO:

: ss:

LOGAN COUNTY :

The undersigned, being duly sworn, says that he is or represents a competitive bidder doing business in, or with Logan County, Ohio, and that:

No bid

known as: *

No bid

The business address of the bidder is: *

No bid

Telephone: *

No bid

The undersigned further says that the bidder at the time of submitting his or its bid: *

No bid

Delinquent Property Taxes As Follows (click "+" to create additional entries. Type "N/A" if this section does not apply):

| YEAR: * | AMOUNT: * | PENALTY: * | INTEREST: * |
|----------------|------------------|-------------------|--------------------|
| No bid | No bid | No bid | No bid |

Signature: *

No bid

Title: *

No bid

COMPETITIVE BIDDER'S PERSONAL PROPERTY TAX AFFIDAVIT - CORPORATION

Optional: Vendor is not required to complete.

STATE OF OHIO:

: ss:

LOGAN COUNTY :

The undersigned, being duly sworn, says that he is or represents a competitive bidder doing business in, or with Logan County, Ohio, and that:

He is a duly authorized officer of the corporation

*

named: *

Neil Louy

The business address of the bidder is: *

8225 Estates Pkwy, Plain City OH 43064

Telephone: *

(614) 873-2222

The undersigned further says that the bidder at the time of submitting his or its bid: *

Was not charged with any delinquent personal taxes in Logan County, Ohio.

Delinquent Property Taxes As Follows (click "+" to create additional entries. Type "N/A" if this section does not apply):

| YEAR: * | AMOUNT: * | PENALTY: * | INTEREST: * |
|----------------|------------------|-------------------|--------------------|
| N/A | \$.00 | \$.00 | \$.00 |

Signature: *

Neil Louy

Title: *

Sales

BIDDER INFORMATION

Company *

MDSolutions

Submitted by *

Neil Louy

Street, Post Office, City, State and Zip: *

8225 Estates Pkwy, Plain City, OH 43064-8408

E-Mail *

neil@md-signs.com

Telephone *

(866) 637-6588

Federal Tax ID# *

31-1804276

OTHER: Beacon, Strobes and Hardware

\$19,746.00

| Item Code | Description | Quantity | Units | Unit Price | Extension |
|---------------|---|----------|-------|------------|--------------------|
| 10 | Interplex Solar (Maverick) Beacon Light - Yellow | 50 | each | \$60.00 | \$3,000.00 |
| 20 | LSBL6 (Type B High Intensity Solar Powered Barricade Light-Red) | 10 | each | \$108.00 | \$1,080.00 |
| 30 | LSBL6 (Type B High Intensity Solar Powered Barricade Light-Yellow) | 30 | each | \$108.00 | \$3,240.00 |
| 40 | Brite Max Multi-View Post Reflectors Yellow (Product # BA080(H)(YE)(0536)) | 225 | each | \$17.36 | \$3,906.00 |
| 50 | TAB 2 1/2"-2 1/2"x5/16"-18 TPI Aluminum Hex Tap Bolt (Full Thread)-EA | 12,500 | each | \$0.41 | \$5,125.00 |
| 60 | TANW5/16"- 5/16" Nylon Flat Washer- EA | 12,500 | each | \$0.07 | \$875.00 |
| 70 | TAN5/16"- 5/16" TPI Aluminum Hex Nut- EA | 25,000 | each | \$0.07 | \$1,750.00 |
| 80 | TSBN (Bolt)- 1 1/4"x5/16"-18 TPI Steel Hex Tap Bolt Zinc Coated Fill Threaed-EA | 7,000 | each | \$0.08 | \$560.00 |
| 90 | TSBN (Nut)- 5/16"-18 TPI Steel Hex Nut Zinc Coated- EA | 7,000 | each | \$0.03 | \$210.00 |
| Total: | | | | | \$19,746.00 |

POSTS: Rib-Bak U-Channel Sign Posts

\$28,317.00

| Item Code | Description | Quantity | Units | Unit Price | Extension |
|-----------|--|----------|-------|------------|---------------------------|
| 100 | T-103G (10 Ft 3 Lb Galvanized steel post) | 600 | each | \$34.05 | \$20,430.00 |
| 110 | T-7FTG (7 FT 2 LB Galvanized Steel Post) | 300 | each | \$16.38 | \$4,914.00 |
| 120 | T-7CNP (7 FT 1.5 LB Galvanized Steel Post) | 300 | each | \$9.91 | \$2,973.00 |
| | | | | | Total: \$28,317.00 |

SIGNS: Blanks

\$6,780.00

| Item Code | Description | Quantity | Units | Unit Price | Extension |
|-----------|---|----------|-------|------------|--------------------------|
| 130 | TCNP 4"x4" White Blank (Engineer Grade)(Hole centered in middle) Blank Ea | 2,500 | each | \$1.85 | \$4,625.00 |
| 140 | 24X24WWB-H24"xW24" White with Black Border Blank-EA | 10 | each | \$26.00 | \$260.00 |
| 150 | 18X18FYG - 18"x18" Fluorescent Yellow-Green with Black Border Blank-EA | 10 | each | \$18.00 | \$180.00 |
| 160 | 24X24FYG - 24"x24" Fluorescent Yellow-Green with Black Border Blank-EA | 10 | each | \$32.00 | \$320.00 |
| 170 | 20X40FYG - 20"x40" Fluorescent Yellow - Green with Black Border Blank-EA | 10 | each | \$44.00 | \$440.00 |
| 180 | T-3'PRY - 3' Post Reflector (Yellow) - Ea | 100 | each | \$5.95 | \$595.00 |
| 190 | 20X40YWB - 20"x40" Yellow with Black Border Blank-Ea | 10 | each | \$36.00 | \$360.00 |
| | | | | | Total: \$6,780.00 |

SIGNS: Complete and Special

\$552.40

| Item Code | Description | Quantity | Units | Unit Price | Extension |
|-----------|---------------------------|----------|-------|------------|------------------------|
| 200 | R1-1 36"x36" Stop Sign | 10 | each | \$55.24 | \$552.40 |
| | | | | | Total: \$552.40 |

REQUIRED DOCUMENTS LIST

| Name | Omission Terms | Submitted File |
|---|---|--|
| Paper Bid Bond, Certified Check, Cashier's Check Please upload a copy of your paper bid bond here. | I have electronically verified my bid bond in the "Bid Bond" section above. | scan0017.pdf |
| Certificate of Compliance with Affirmative Action Program Please Upload a copy of your CCA | I will furnish prior to contract award | I am not enclosing this document because the omission terms have been met. |
| Ohio workers' compensation certificate of coverage Submitted prior to contract execution | I will furnish prior to contract award | I am not enclosing this document because the omission terms have been met. |
| 3 Required Documents | | |

BID GUARANTY

As specified in the Ohio Revised Code 153.54, a bidder must submit a bid guaranty in the form of either:

- (1) a paper contract bond for the full amount (100%) of the bid, or
- (2) a certified check, cashier's check, or letter of credit in the amount of 10% of the bid.

Bond Percentage

10.00%

I understand that in addition to the project Owner, ODOT shall be named as an obligee.

*

I understand that original, wet-ink bid guaranty documents will be recieved "within 3-days post bid deadline."

*

Paper Bid Bond, Certified Check, Cashier's Check, Letter of Credit, or Paper Contract Bond

Confirmation *

I have provided a Cashier's Check for 10.00% of the bid total amount and have uploaded a copy in the Required Documents List at the bottom of this solicitation.

- Ohio Revised Code 153.54 - bid guaranty: If the bidder selects a 10% bid bond only and enters into the contract, the bidder, at the time the contract is entered to, shall file a bond for the amount of the contract to indemnify the state, political subdivision, district, institution, or agency against all damage suffered by failure to perform the contract according to its provisions and in accordance with the plans, details, and specifications and to pay all lawful claims of subcontractors, material suppliers, and laborers for labor performed or material furnished in carrying forward, performing, or completing the contract; and agree and assent that this undertaking is for the benefit of any subcontractor, material supplier, or laborer having a just claim, as well as for the state, political subdivision, district, institution, or agency.

See Ohio Revised Code 153.571 for form of bid bond.

ODOT - LPA TEMPLATE COMPLIANCE and BIDDERS CERTIFICATION:

ODOT - LPA TEMPLATE COMPLIANCE:

The bidder hereby certifies that he **(1) has**, **has not**, participated in a previous contract or subcontract subject to the equal opportunity clause, as required by Executive Orders 10925, 11114, or 11246,

(1) The Bidder must indicate the appropriate "has or has not" from above *

HAS

and that he **(2) has**, **has not**, filed with the Joint Reporting Committee, the Director of the Office of Federal Contract Compliance, a Federal Government Contract Compliance, a Federal Government contracting or administering agency, or the former President's Committee on Equal Employment Opportunity, all reports due under the applicable filing requirements.

(2) The Bidder must indicate the appropriate "has or has not" from above* *

HAS

All Bidders shall submit a DBE Utilization Plan at the time of bid setting forth specific information demonstrating how the Bidder will achieve the DBE goal. By submitting a DBE Utilization Plan, the Bidder is affirming that they will be using the DBE firms identified in the Utilization Plan to meet the DBE contract goal. The DBE Utilization Plan shall be submitted with Formstack at time of bid submission. Any bids received without electronic submission of the DBE Utilization Plan at or before bid time, will be deemed unresponsive. **Bidders shall submit their DBE Utilization Plans via: https://odot.formstack.com/forms/dbe_copy.** This file contains the current list of certified DBEs and is updated regularly. The DBE Utilization Plan must be filled out completely and submitted prior to bid opening.

DBE Utilization Plan submission is completed: *

YES

BIDDER'S CERTIFICATION:

The undersigned, being a duly authorized officer of the prime contract bidder, does hereby certify to and agree to all the required contract provisions and documents outlined within the ODOT - LPA Template, final plans, wage rates, utility notes, proposal notes, and bidders notices each furnished in their entirety within the attachment list above.

The undersigned, being a duly authorized officer of the prime contract bidder, does hereby agrees to furnish all labor, materials, and equipment for the (project listed in the general info section) and perform all work incident thereto in accordance with the plans and specifications thereof and subject to the satisfaction and acceptance by the County Engineer at the unit prices provided on the proceeding pages.

The undersigned, being a duly authorized officer of the prime contract bidder, does hereby agrees to enter into a contract within ten (10) days; to complete the said improvement and will furnish the required bond for the payment of all bills for damages, labor, and material arising from the construction of said improvement.

Signature of Authorized Officer: *

Neil Louy

Date: __/__/__ *

06/24/25

Title: *

Sales



Terms and Conditions (Remitter and Payee):

- * Please keep this copy for your record of the transaction
- * The escheatment laws of a specific state will consider these funds to be "abandoned" if the Cashier's Check is not cashed by a certain time
 - Please cash/deposit this Cashier's Check as soon as possible to prevent this from occurring
 - In most cases, the funds will be considered "abandoned" after the "Void After" Date
- * Placing a Stop Payment on a Cashier's Check
 - Stop Payment can only be placed if the Cashier's Check is lost, stolen, or destroyed
 - We may not re-issue or refund the funds after the stop payment has been placed until 90 days after the original check was issued
- * Please visit a Chase branch to report a lost, stolen, or destroyed Cashier's Check or for any other information about this item

**FOR YOUR PROTECTION SAVE THIS COPY
CASHIER'S CHECK**

**Customer Copy
9027233361**

06/23/2025
Void after 1 year

Remitter: MDSOLUTIONS INC

**** 5,539.54 ****

Pay To The Order Of: LOGAN COUNTY ENGINEER

Drawer: **JPMORGAN CHASE BANK, N.A.**
NON NEGOTIABLE

Memo: _____
Note: For information only. Comment has no effect on bank's payment.

28211107 6/2023 8810004306

CASHIER'S CHECK

HOLD DOCUMENT AT ANGLE TO VIEW ARTIFICIAL WATERMARK ON BACK

CHASE

Date **06/23/2025**

9027233361 25-3
440

Void after 1 year

Remitter: MDSOLUTIONS INC

Pay To The Order Of: LOGAN COUNTY ENGINEER

Pay: FIVE THOUSAND FIVE HUNDRED THIRTY NINE DOLLARS AND 54 CENTS **** 5,539.54 ****

Drawer: **JPMORGAN CHASE BANK, N.A.**

Thomas W. Horne

Thomas W Horne, Chief Administrative Officer
JPMorgan Chase Bank, N.A.
Columbus, OH

Do not write outside this box

Memo: _____

Note: For information only. Comment has no effect on bank's payment.

⑈ 90 27 233361 ⑈ ⑆ 044000037⑆ 758661318⑈

